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image7.png
N=512;row=512; col=512;
fin_D23=fopen( 'D23.raw', 'r');

1.D23 = fread(fin_D23, [col row], 'uint@=-uint');
1.D23 = reshape(1_D23,row,col);
Y=1_D23;X=1_D23;

[4, D]=haart(X,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);

N=N/2;

X2=Y(1:N, LN,

[4, Dl=haart(¥2,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);
T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);

N=N/2:
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X3=Y(1:N,1:N);

[4, Dl=haart(¥3,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);
T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);
subplot(1,2,2)

imshow(Y);
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X3=Y(1:N,1:N);

[4, Dl=haart(¥3,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);
T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);
subplot(1,2,1)

imshow(Y);
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N=512;row=512; col=512;
fin_DO4=fopen( 'DO4. raw', 'r');

1.D04 = fread(fin_DO4, [col row], 'uint@=-uint');
1.D04 = reshape(1_D04,row,col);
Y=1_D04;X=1_D04;

[4, D]=haart(X,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);

N=N/2;

X2=Y(1:N, LN,

[4, Dl=haart(¥2,1);

T=zeros(N,N);

T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
[4, D]=haart(T,1);
T(1:N,1:N/2)=t"; T(L:N,N/2+1:N)=D"';
Y(1:N,1:N)=T(1:N,1:N);

N=N/2;
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DCT of image 004 raw DC_T of image D23.raw





image13.png
fin_D23=fopen( 'D23.raw', 'r');

1.D23 = fread(fin_D23, [col row], 'uint@=-uintg")
1.D23 = reshape(1_D23,row,col);

523 = zeros(8,8);

for i=1:
for :8:256
tmp = [_D23(i:i47, j:j+7);
tmp = dct2(tmp-128);
Y = round(tmp./Q);
S23(i:i+7, j:i+7) =¥
end
end

subplot(1,2,2)
imshow(S23);title( 'DCT of image D23.raw');




image14.png
Q=xlsread( 'Qtable.xls', '42:H9");

row=512; col=512;

fin_DO4=fopen( 'DO4. raw', 'r');

1.D04 = fread(fin_DO4, [col row], 'uint@=-uint');
1.D04 = reshape(1_D04,row,col);

S04 = zeros(8,8);

for i=1:8:256
for j=1:8:256
tmp = [_DO4(i:i47, j:i+7);

tmp = det2(tmp-128);
Y = round(tmp./Q);
SO4(i:i47, j:j+7) = Y

end
end
subplot(1,2,1)
imshow(S04);title( 'DCT of image DO4.raw');




image1.png
row=512; col=512;

fin_DO4=fopen( 'DO4. raw', 'r');

1.D04 = fread(fin_DO4, [col row], 'uint@=-uint');
1.D04 = reshape(1_D04,row,col);
subplot(2,2,1)

imshow( 1_D04);title( 'image DO4. raw');

F D04 = fftshift(fft2(1_D04));

Sc_D04 = abs(F_D04);

Sc_D04 = 18*%log(Sc_D04); BFFH18* | og B
subplot(2,2,2)

imshow(Sc_DO4,[1);title( 'Fourier transform of image DO4.raw');
fclose(fin_D04);

SETE0~2552 [E
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image D04.raw Fourier transform of image D04.raw

Fourier transform of an image D23.raw





image3.png
fin_D23=fopen( 'D23.raw', 'r');

1.D23 = fread(fin_D23, [col row], 'uint@=-uint');

1.D23 = reshape(1_D23,row,col);

subplot(2,2,3)

imshow( 1_D23);title( 'image D23.raw');

F_D23 = fftshift(fft2(1.D23));

Sc_D23 = abs(F_D23);

Sc_D23 = 18*log(Sc_D23); GFFH18% | 0g BB ETEFE0~2552 [
subplot(2,2,4)

imshow(Sc_D23,[]);title( 'Fourier transform of an image D23
fclose(fin_D23);

Lraw');




image4.png
fin_D23=fopen( 'D23.raw', 'r');

1.D23 = fread(fin_D23, [col row], 'uint@=-uint');
1.D23 = reshape(1_D23,row,col);

523 = zeros(8,8);

for i=1:8:256
for j=1:8:256
tmp = [_D23(i:i47, j:j+7);
tnp = det2(tmp-128);

Y = round(tmp./Q);
S523(1:8,1:8) = ¥;
end
end
subplot(1,2,2)
imshow(S23);title( 'DCT of image D23.raw');




image5.png
Q=xlsread( 'Qtable.xls', '42:H9");

row=512; col=512;

fin_DO4=fopen( 'DO4. raw', 'r');

1.D04 = fread(fin_DO4, [col row], 'uint@=-uint');
1.D04 = reshape(1_D04,row,col);

S04 = zeros(8,8);

for i=1:8:256
for j=1:8:256
tmp = [_DO4(i:i47, j:i+7);
tmp = dct2(tmp-128);

Y = round(tmp./Q);
S04(1:8,1:8) = ¥|;
end
end
subplot(1,2,1)
imshow(S04);title( 'DCT of image DO4.raw');




